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THREE YEAR B Com (General) (CBCS) DEGREE EXAMINATION MARCH/APRIL 2019

| %/\ B ' FOURTH SEMESTER
3 a INCOMETAX S
- v (Wef 2016-17 Admltted Batch)

Time : Three hours o

. (No additioﬁal sheet will “b'e supplied) . . - -

- Maximum ;'75 marks .

_ SECTION A -— (5 x 5= 25 marks)
Answer any FIVE questlons o

Each questxon carries 5 marks
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'_ 'What are provrslons relatmg to setoff and carry forward of losses under the head “Caplta]

gams”"
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' SECTION B-— (5 x 10 = 50 marks)
' Ahswer ALL q‘uestion‘s. |
Each‘ question carries 10 marks.
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' L1st any ten exempted incomes U/s 10.
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How do you determme the Resndentlal Status of an- 1nd1v1dual”
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Mr. Vishnu an- employee of Ranclu (Populatlon 15 lakhs) based company provides the

(g)

following partlculars of his salary i mcome Compute income. from salary for the A/Y 201 7-18.
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Basic salary z 12, 000 p. m

Proﬁt bonus ¥12,000. o

Comm1ss1on on turnover ac}ueved by Vlshnu f42 000
Entertamment a]lowance T2, 000 p.m. _
Club facﬂJty £6,000; Transport allowance T 1,000 p.m.

Gas, water and electr1c1ty b]]_ls 1ssued in the name of employee but pa1d by employer :
¥16,800. : : :

* Free education facility for three chlldren of the employee (Bill 1ssued in the name of

employer) 22, 500 . . o , _ _ _
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1Or
P rom the followmg partwulars compute income from salary of Mr Chakrl o

Basm salary 12,000 p m. - DA T6 000 p.m.

Comm1ss1on ¥10 000 S Bonus €5, 000

Employer Employee contrlbutlon towards RPF is 50, 000 each

' Interest credxted to RPF balance @ 13% is T 13 000 -

' Employer prov1des rent free house to employee and employer pald a rent ¥6 000 p m.
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¥253§ 10,000, %5 T5,000
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~ RPF :oe)ogog 9§ 18% t13 000
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16.

- Fair rental value {2,80,000" .

Municipal taxes 234,000

‘ Calculate income from house property of Mr Kumar from the followmg

Recelved rent ¥3,00, OOO

Standard rent ¥2 64, 000

' Mummpal rent f 2,40, OOO

| _Falr rental value 3, 00 000

Munic_ipal taxes f2,4,,0‘00_
Interest on loan f18,000 ‘

Insurance f4,000

3 Unrealized rent ¥3,000.

808 S0 2308 Mr. %508 63.»56 h;)oﬁn) a’»o& eswoﬁ;‘&)a ngoéo&

mgas:,epg ¥3,00,000

el e ¥2,64,000

:aese»es eafm;«s ¥2,40,000

dinﬁ‘n?() 9923 X)eJo‘:) 13 00 000 ,

: @csaoes o:&)&m f24 OOO .

‘e.meaog :x; 718,000

253’))‘“ 24 000

 Sisrensd @2 ¥3,000.

Or.

Mr. Prakaqh own a blg house from the followmg partlcular compute income from house (
property _ _

Rent recewed for 2/3 portlon of house 1s z 1 68 OOO

Mumcxpal rental value £2,40,000

'Interes’t on loan ¥72,000

1/3 of house is used for own residence. -
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- Mr. pqua,g oac‘s Ka):ﬁ.‘og a%oesdID, L§ocS :)no‘o emvoon‘ Kq)gﬁco K»o& escs“o‘.bo ngoéo&

2/3 :soéo e.rm‘og SOy :ﬂoag o t 1, 68 000 _

:Q)oavog eaa e T2, 40 OOO
oin'gzp_é eeg- ogn;s ¥2,80,000
- YoreE Sdyen 34,000

eoeacp B& 72,000

118 3 5080 g1y :anoéss%o §6% &5RIRODT.

Compute Lapltal galns from the followmg

.Con51derat10n recelved on sale of resudentlal house 125 00 000 on 26.10.2016 (CII 1125)

. Residential house purchased on l 8.2005 for 27, 02, 000 (CII 49"’) A new. house purchased on,
- 2. 2 2017 for T7 50,000. '

& 508 23070 ewoom :soye)q’):: emre)m Eigbobo&

. 26. 10 20163 X)U‘w H)uﬁ:\’)ql @éoén" ;’)&Qr‘() E{)@;’)e)o T25 00, 000 on 26. 10 2016 (CII 1125)

zg)gs.ox) 1.8.2005 % T7,02,000 S350 37wt (CIL 497) 2. 2. 2017 avcza 28 58 2 rg)a»om

= ?mﬁ"e» Dty rg)a»o Ghao%), &8 17,50, 000.
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Llst out the lncomeq taxable under the head “other sources
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What are the Deductlons allowed u/s 80 C‘?

' «)55 80 C (35760 wmm@_o'é éﬁo.g) 20?7
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Compute total income from the following :

" .Income from salafy (Computed) o ~1,60,000

_‘Income from house property~A o 44,500

. Loss from house property—B . 62,300'- R

'Income from Busmess«X : o 65,000 -
Loss from Busmess—Y__i‘ o _82,d00 -

Long term capltal gaing - o 20,000 -

T . | -R.S 446.12-' |
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